

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for Quotation

INKCRT07

PAGE

ADDRESS CORRESPONDENCE: TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

RFQ COPY
TYPE NAME/ADDRESS HERE
Pomeroy IT Solut.

Pomeroy IT Solutions Fre. 4013 Washington St., West Charleston WU 25313

| DATE PRIN        | TED %  | . JER    | MS OF SAL | E 🔆 🐰 👋    | SHIP                  | ሊተ የብርንን ወደ ያዊሚያው ነው ሌዎች |           | J.B.                                    | FREIGHTTERMS      |
|------------------|--------|----------|-----------|------------|-----------------------|--------------------------|-----------|---|-------------------|
| 09/25/           |        | Net      |           |            | B25+W4                | ¥                        |           | ngtion                                  | Included          |
| BID OPENING DATE | :      | 10/24/   | 2006      |            |                       | ' BID                    | OPENING   | TIME 01                                 | :30PM             |
| LINE             | QUA    | NTITY:   | Uop       | CAT.<br>NO | ITEM.NU               | MBER                     | ÚNI       | PRICE                                   | AMOUNT            |
|                  |        |          | REQU      | EST F      | OR QUOTAT             | rion                     |           |   |                   |
|                  |        |          |           |            | N IS SOLI<br>TRACT TO |                          |           |   |                   |
|                  |        |          |           |            | T VIRGINI             |                          |           |   |                   |
|                  |        | DLITICA  |           |            |                       |                          |           |   |                   |
|                  |        |          |           |            | ANDATORY<br>SION, BUI |                          |           | HELD                                    |                   |
|                  |        |          |           |            | T, CHARLE             |                          |           |   |                   |
|                  | OCTOBE | R 11,    | 2006,     | 11:0       | O AM. FA              | ILURE T                  | D ATTEND  | )                                       |                   |
|                  |        |          |           |            | ATICALLY ONTRACT.     | DISQUAL                  | IFY A VE  | NDOR                                    |                   |
|                  | FROM E | ICTING H | WARDE     | ЭАС        | UNIKACI.              |                          |           |   |                   |
|                  |        |          |           |            |                       |                          |           |   |                   |
| 0.007            |        |          |           |            | 0// 2/ 01             | 007                      |           |   |                   |
| 0001             |        | 1        | EA        |            | 966-24-01             | 001                      | 761,30    | 9.91                                    | 761,309.91        |
|                  | COMPUT | ER LAS   | ER CA     | RTRID      | GES, INKJ             | ETS & R                  | IBBONS    |   |                   |
|                  |        |          |           |            |                       |                          |           |   |                   |
|                  | BIDDER | s MUST   | BID       | ACTUA      | L NEW CAR             | TRIDGES                  | : REMANU  | ECTURED.                                |                   |
|                  | "COMPA | TIBLE    | OR O      | THER       | USED ARE              | NOT PER                  | MITTED.   | BIDDERS                                 |                   |
|                  | MUST C | ERTIFY   | THAT      | THEI       | R BID COV             | ERS ONL                  | Y NEW UN  | ITS.                                    |                   |
|                  |        |          |           |            | N KEBUILI<br>DNTRACT. |                          |           | ERIAL DO                                |                   |
|                  |        |          |           |            | BRAND SPE             |                          | 2,,0 525  | .,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |                   |
|                  | BIDDER | TRIIM R  | STEN      | THE        | PRICING S             | CHEDIIIE                 | VERTEVI   | NC                                      |                   |
|                  |        |          |           |            | SPECIFIC              |                          | BIDS      |   |                   |
|                  | RECEIV | ED WIT   | ноит 🛭    | rhis       | SIGNATURE             | VALIDA                   |           |   |                   |
|                  | BE DIS | QUALIF   | IED.      | BIDD       | ERS ARE R             | EQUESTE                  | D TO TYP  | E THE                                   |                   |
|                  | 1      | ,        | ,         |            |                       | ļ                        |           |   | ,                 |
|                  | 7/1    | 72'      | f         | SEE REV    | ERSE SIDE FOR T       |                          | IDITIONS: |   | 1                 |
| SIGNATURE        | MANAL  | V 01 F   | m         |            |                       | TELEPHONE<br>304-        | 746-4436  | XII4 DATE                               | 10-31-06          |
| COULED. A        | 10+.Ex | ecutor   | IN 61-    | 135        | 2158                  |                          |           | <del></del>                             | TO BE NOTED ABOVE |

## GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- 4. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125.00 registration fee.
- 5. All services performed or goods delivered under State Purchase Orders/Contracts are to be continued for the term of the Purchase Order/Contract, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- 6. Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 11. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- 12. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 13. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, this contract is automatically null and void, and is terminated without further order.
- 14. HIPAA Business Associate Addendum The West Viginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa.htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Covered Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.

#### INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- 4. Unit prices shall prevail in cases of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 6. BID SUBMISSION: All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications.

#### SIGNED BID TO:

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130



MODZE

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for REGNUMBER INKCRT07

| _ |    |    |    |   | _ |
|---|----|----|----|---|---|
| T | NK | CR | TO | 7 |   |

CADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

| 09/25/            |                   |  |               |              |                                       |                   |   |                     |                 | - 7 A MAE         |             |
|-------------------|-------------------|--|---------------|--------------|---------------------------------------|-------------------|---|---------------------|-----------------|-------------------|-------------|
| BID OPENING DATE: |                   | <u> 10/24/</u>                         | 2006          | 9002 (M.197) |                                       | BID               | <u>OPENING</u>                          | 8000 m. 65 dec 6000 |                 | :30PM             | ner<br>Negr |
| LINE              | QUAI              | YTITY                                  | UOP           | CAT<br>NO    | ITEM NUM                              | /BER              | UN                                      | IT PRICE            |                 | AMOUNT            |             |
|                   | DOCUME            | ATION<br>NT AND<br>FRANCI              | IS A          | VAILA        | CING PAGE<br>BLE BY SE<br>N.GOV       | S. THI<br>NDING A | S IS AN<br>N E-MAI                      | EXCEL<br>L REQUE    | ST              |                   |             |
|                   |                   | CATION                                 | WITH          |              | SHIPPING<br>ST VIRGIN                 |                   |   | NO                  |                 |                   |             |
|                   |                   |  |               |              | RED TO TH<br>RECEIPT O                |                   |   | ATION               |                 |                   |             |
|                   | NAM<br>ADD<br>TEL | NTACT<br>E:<br>RESS<br>EPHONE<br>NUMBE | NUMB          | M.KC<br>4013 |                                       | 151.W C           | harlest                                 | on WV               | Z5 <sup>-</sup> | 313               |             |
|                   | PRICES<br>ATTACH  |  | 1.            | PRIC         | ACHED PRI<br>ING SCHED<br>DAVIT       |                   | İ                                       |                     |                 |                   |             |
|                   | EXHIBI            | Т 3                                    |               |              |                                       |                   | 4-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1 |                     |                 |                   |             |
|                   | LIFE O            |  |               | , AND        | IS CONTRA                             | FOR A P           | ERIOD O                                 | F DNE               | (1)             |                   |             |
|                   | NECESS<br>ORIGIN  | ARY TO                                 | OBTA<br>TRACT | IN A         | ASONABLE<br>NEW CONTR<br>E "REASON    | ACT OR<br>ABLE TI | RENEW T                                 | HE<br>LIOD SHA      | ۱LL             |                   |             |
|                   | TIME"<br>REASON   | THE VE                                 | NDOR<br>GIVIN | MAY T        | MONTHS.<br>ERMINATE<br>DIRECTOR       | THIS CO           | THIS "<br>NTRACT<br>CHASING             | FOR ANY             | •               |                   |             |
|                   | UNLESS            | N NOTI                                 | FIC P         | ROVIS        | IONS ARE                              | STIPULA           | TED ELS                                 | EWHERE              |                 |                   |             |
|                   | IN THI            | S CONT                                 | RACT          | DOCUM        | ENT, THE                              | TERMS,            | CONDITI                                 | ONS ANI             | )               |                   |             |
|                   |                   |  |               | SEERE        | VERSE SIDE FOR T                      |                   | NDITIONS:                               |                     |                 |                   |             |
| SIGNATURE :       |                   |  | •             |              |                                       | TELEPHONE         |   |                     | DATE            |                   |             |
| TITLE             | ,                 | F                                      | EIN           | •            | · · · · · · · · · · · · · · · · · · · |                   | AI                                      | DDRESS CHA          | NGES            | TO BE NOTED ABOVE |             |



VEZDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

# Request for PRONUMBER

INKCRT07

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

SH-P TO

| 09/25/           | 2006   |  |   |  |  |                                 |  |                                     |                                    |   |                     |        |
|------------------|--|--|---|--|--|---------------------------------|--|-------------------------------------|------------------------------------|---|---------------------|--------|
| BID OPENING DATE |  | 10/24/   | /2006                                     |  |  |                                 | BI                                       | D OF                                | PENING                             | TIME                                    | 01                  | :30PM  |
| LINE             | QUA  | NTITY  | UOP                                       | CAT.<br>NO                             | 17   | EM NUM                          | BER                                      |                                     | ÚΝ                                 | IT PRICE                                |                     | AMOUNT |
|                  | PRICI'N<br>CONTRA                              | IG SET   | HEREI                                     | N ARE                                  | FIRM   | FOR                             | THE                                      | LIFE                                | E OF T                             | HE                                      |                     |        |
|                  | WRITTE<br>SUBMIT<br>DAYS F<br>BE IN<br>ORIGIN  | L: THE<br>EN CONS<br>TED TO<br>PRIOR T<br>ACCORI<br>IAL CON<br>EAR PER | ENT O<br>THE<br>O THE<br>ANCE<br>TRACT    | F THE<br>DIREC<br>EXPI<br>WITH<br>AND  | SPENI<br>TOR OI<br>RATIOI<br>THE TI            | DING<br>PUF<br>DAT<br>ERMS      | UNIT<br>RCHAS<br>TE.<br>AND              | ANI<br>ING<br>SUCH<br>CONI          | VEND<br>THIRT<br>RENE              | OR,<br>Y (30)<br>Wal sh<br>S of T       | IALL<br>THE         |        |
|                  | RIGHT<br>NOTICE<br>SUPPLI                      | LATION<br>TO CAN<br>TO TH<br>ED ARE<br>SPECI                           | CEL T<br>IE VEN<br>OF A                   | HIS C<br>DOR I<br>N INF                | ONTRAC<br>F THE<br>ERIOR                       | CT IN<br>COMM<br>LAUQ           | MEDI.<br>MODIT<br>LITY                   | ATEL<br>IES<br>OR I                 | Y UPO<br>AND/O<br>OD NOT           | N WRIT<br>R SERV<br>CONFO               | TEN<br>/ICES<br>)RM |        |
|                  | AUTHOR<br>MARKET<br>ESTIMA<br>IMMEDI<br>CAUSES | MARKET RIZE A T, WITH ATE, ITH ATE DE CINCL TION OF                    | SPEND<br>OUT T<br>EMS S<br>LIVER<br>UDING | ING U<br>HE FI<br>PECIF<br>Y IN<br>BUT | NIT TO<br>LING O<br>IED OI<br>EMERGI<br>NOT LI | D PUF<br>DF A<br>N THI<br>ENCIE | RCHAS<br>REQU<br>IS CO<br>IS DU<br>ED TO | E ON<br>ISIT<br>NTRA<br>E TO<br>DEL | THE FION OF ACT FO D UNFO AYS I    | OPEN<br>R COST<br>R<br>Reseen<br>N TRAN | !<br>!s-            |        |
|                  | APPROX<br>THE ST<br>THAT T<br>ORDERE           | TIES:<br>(IMATIO<br>TATE SE<br>THE CON<br>ED FOR<br>ER MORE            | NS ON<br>ENDIN<br>TRACT<br>DELIV          | LY, B<br>G UNI<br>SHAL<br>ERY D        | ASED (<br>T. I'<br>L COVI<br>URING             | ON ES<br>T IS<br>ER TI<br>THE   | STIMA<br>UNDE<br>HE QU<br>TERM           | TES<br>RSTC<br>ANTI<br>OF           | SUPPL<br>OOD AN<br>TIES .<br>THE C | IED BY<br>D AGRE<br>ACTUAL<br>ONTRAC    | '<br>ED<br>.LY      |        |
|                  | WRITTE<br>THE VE                               | NG PRO   | E CON<br>OR CO                            | TRACT<br>MMODI                         | ORDEI<br>TIES (                                | R (FC<br>COVER                  | ORM N                                    | UMBE<br>Y TH                        | R WV-                              | 39) TO<br>NTRACT                        | )                   |        |
| IGNATURE         |  |  |   | - OLE DE                               | v = nor;out                                    | 41. Att. 10                     | EFEBHONE<br>Lino Hind                    | ACIANI:                             | notive (1967)                      | <u> </u>                                | DATE                |        |



ADOCAL

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### Request for \_\_\_\_\_\_ Quotation

INKCRT07

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

SHIPTO

| DATE PRINTED   | ERMS OF SALE SHIP VIA   | F.O.B. FREIGHT TERMS                |
|--|---|-------------------------------------|
| 09/25/2006   |   |                                     |
|  |   | OPENING TIME 01:30PM                |
| LINE QUANTITY  | UOP CAT ITEM NUMBER   | UNIT PRICE AMOUNT                   |
| VENDOR AS A<br>MAILED TO T                             | AL COPY OF THE WV-39 SHALL B<br>AUTHORIZATION FOR SHIPMENT,<br>THE PURCHASING DIVISION, AND<br>THE SPENDING UNIT.   | A SECOND COPY                       |
| FOR BANKRUP  | IN THE EVENT THE VENDOR/C<br>PTCY PROTECTION, THIS CONTRA<br>AND VOID, AND IS TERMINATED  | CT IS AUTOMATI-                     |
| SHALL SUPER<br>CONDITIONS<br>DOCUMENTS S<br>AGREEMENTS | AND CONDITIONS CONTAINED IN SEDE ANY AND ALL SUBSEQUENT WHICH MAY APPEAR ON ANY ATT SUCH AS PRICE LISTS, ORDER FOR MAINTENANCE AGREEMENTS, MEDIUM SUCH AS CD-ROM. | TERMS AND ACHED PRINTED DRMS, SALES |
| PREFERENCE   | VENDOR PREFERENCE CERTIFION AND APPLICATION* IS HERE IN ACCORDANCE WITH WEST VIR DES NOT APPLY TO CONSTRUCTION  | BY MADE FOR<br>GINIA CODE,          |
| A. APPLICA<br>REASON CHEC                              | ATION IS MADE FOR 2.5% PREFE  | RENCE FOR THE                       |
| HAS RESIDED  | R IS AN INDIVIDUAL RESIDENT CONTINUOUSLY IN WEST VIRGINMEDIATELY PRECEDING THE DA   | NIA FOR FOUR                        |
| TION RESIDE<br>QUARTERS OR                             | R IS A PARTNERSHIP, ASSOCIANT VENDOR AND HAS MAINTAINE PRINCIPAL PLACE OF BUSINES   | D ITS HEAD-<br>S CONTINUOUSLY I     |
| SIGNATURE  | TELEPHONE   | NDITIONS DATE                       |
| TITLE  | FEIN  | ADDRESS CHANGES TO BE NOTED ABOVE   |



JOOZW<

RFQ COPY

TYPE NAME/ADDRESS HERE

[#

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for Quotation

INKCRT07

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BETTY FRANCISCO 304-558-0468

OH+A HO

| <u></u>          |        |   |            |           |            |           |            |        |         |          |        |   |           |   |
|------------------|--------|---|------------|-----------|------------|-----------|------------|--------|---------|----------|--------|---|-----------|---|
| DATE PRIN        | TED    | J                                       | RMS OF SAI | E         |            | SHIP VI   | 9          |        |         | F,O,B    |        | FREI                                    | GHT TERMS |   |
| 09/25/           |        |   |            |           |            |           |            |        |         |          |        |   |           | *************************************** |
| BID OPENING DATE | •      | 10/24                                   | /2006      |           |            |           | BID        | OP     | ENING   | TIME     | 0      | 1:30PM                                  |           |   |
| LINE             | QUAI   | NTITY                                   | UOP        | CAT<br>NO |            | TEM NUMI  | ∋ER        |        | וט      | NT PRICE |        |   | AMQUNT    |   |
|                  | WEST V | TRGTN                                   | TA FOR     | FOUR      | (4)        | VEAR      | : TMMF     | DIA    | TELV    | PPECE    | DINC   | *************************************** |           |   |
|                  | THE DA |   |            |           |            |           |            |        |         |          |        | Ь                                       |           |   |
|                  | INTERE | ST OF                                   | BIDDE      | R IS      | HELD       | BY AN     | OTHER      | IN     | DIVID   | UAL,     |        |   |           |   |
|                  | PARTNE |   |            |           |            |           |            |        |         |          | /ENDO  | R                                       |           |   |
|                  | WHO HA | S MAI                                   | NTAINE     | D ITS     | HEAD       | QUART     | FERS O     | R P    | RINCI   | PAL F    | PLACE  |   |           |   |
|                  | OF BUS | INESS                                   | CONTI      | NUOUS     | LY IN      | WEST      | VIRG       | INI    | A FOR   | FOUR     | (4)    | }                                       |           |   |
|                  | YEARS  |   |            |           | EDING      | THE       | DATE       | 0F     | THIS    |          |        |   |           |   |
| * *              | CERTIF | ICATI                                   | ON; OR     |           |            |           |            | İ      |         |          |        |   |           |   |
|                  |        |   |            | ,         |            |           |            |        |         |          |        | 1                                       |           |   |
|                  |        |   | R IS A     |           |            |           |            |        |         |          |        |   |           |   |
|                  | MHICH  |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | A MINI |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | HAS MA |   |            |           |            |           |            |        |         |          |        | -                                       |           |   |
|                  | BUSINE |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | FOUR ( |   |            | MEDIA     | IELY       | PRECE     | DINE       | IHE    | DATE    | OF 1     | HIS    |   |           |   |
|                  | CERTIF | ICAIL                                   | UN.        |           |            |           |            |        |         |          |        |   |           |   |
|                  | B. AP  | DITOA                                   | TTON T     | C MAD     | E END      | 2 50      | opec:      |        | NOT T   | 00 TI    |        |   |           |   |
|                  | REASON |   | 3 1        | S MAD     | c ruk      | 2.5/      | FREFI      | CKC    | NCE F   | UK IF    | ) E.   |   |           |   |
|                  | KEASON | GIILL                                   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | ( )    | RIDDE                                   | RISA       | REST      | DENT       | VENDO     | IB MHU     | CE     | RTTET   | EC TL    | IAT.   |   |           |   |
|                  | DURÍNG |   |            |           |            |           |            |        |         |          |        | }                                       |           |   |
|                  | 75% OF |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | ARE RE |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | THE ST |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | PRECED |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | OR,    |   |            |           | ,          |           | •          |        |         |          |        |   |           |   |
|                  |        | BIDDE                                   | RISA       | NONR      | ESIDE      | NT VE     | NDOR I     | ЕМР    | LOYIN   | G A      |        |   |           |   |
|                  | MIÑIMU |   |            |           |            |           |            |        |         |          |        |   |           |   |
|                  | NONRES | IDENT                                   | VENDO      | R WIT     | H AN       | AFFIL     | IATE (     | OR :   | SUBSI   | DIARY    | ,      |   |           |   |
|                  | WHICH  | MAINT                                   | AINS I     | TS HE     | ADQUA      | RTERS     | OR PI      | RIN    | CIPAL   | PLAC     | E      |   |           |   |
|                  | OF BUS | INESS                                   | WITHI      | N WES     | T VIR      | GINIA     | EMPLO      | DYI    | NG A    | MINIM    | IUM    |   |           |   |
|                  | OF ONE | HUNDI                                   | RED ST     | ATE R     | ESIDE      | NTS W     | HO CEI     | RTI    | FIES    | THAT,    |        |   |           |   |
|                  | DURING | THE I                                   | LIFE O     | F THE     | CONT       | RACT,     | ON A       | VER.   | AGE A   | T LEA    | ST     |   |           |   |
| •                | 75% OF | THE I                                   | EMPLOY     | EES O     | R BID      | DERS!     | AFFI       | LIA    | TE'S    | OR       |        |   |           |   |
|                  | SUBSID | IARY'                                   | S EMPL     | OYEES     | ARE        | RESID     | ENTS (     | OF I   | WEST    | VIRGI    | NIA    |   |           |   |
| GNATURE          |        | (1) (1) (1) (1) (1) (1) (1) (1) (1) (1) |            | SEE RE    | ZERSE SIDI | E FOR TEI | RMS AND CO | DNDITI | ons 🔆 🔆 |          |        | **************************************  |           | N 849                                   |
|                  |        |   |            |           |            | ''        | ELEFTONE   |        |         |          | DATE   |   |           |   |
| TITLE            |        | I                                       | FEIN       |           |            |           |            |        | ΑD      | DRESS (  | HANGES | TO BE NOT                               | ED ABOVE  |   |



VENDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### Request for Quotation

INKCRT07

PAGE &

ADDRESS.CORRESPONDENCE:TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

%**Н−**Р. **Т**О

| DATE PHIN        | TED                                      | The Contract of                     | MS OF SAL                               | £  | SHIPA  | (A)  | i i i i i i i i i i i i i i i i i i i  | O,B                                    |         | FREIGHT/TERMS      |
|------------------|--|-------------------------------------|---|--|--|--|--|--|---------|--------------------|
| 09/25/           | 2006                                     | had or openion                      | <u> </u>                                |  |  |  | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1  | 1.00. 000 00.0000                      |         |                    |
| BID OPENING DATE |  | 10/24/                              | 2006                                    |  | <del></del>  | BID  | OPENING  | TIME                                   | 01      | :30PM              |
| LINE             | QUA                                      | NTITY                               | UOP                                     | CAT,<br>NO                                     | ITEM NUK   | VBER   | ÜN   | IT PRICE                               |         | AMOUNT             |
|                  | YEARS BIDDER DETERM FAILED PREFER PURCHA | UNDER UNDER UNES TO CO ENCE, SING T | ATELY STAND HAT A NTINU THE S O: (      | PREC<br>S IF<br>BIDD<br>E TO<br>ECRET<br>A) RE | E STATE CEDING SUBTHE SECRE ER RECEIVE MEET THE ARY MAY OSCIND THE SSESS A P   | MISSION TARY OF ING PRE REQUIRE RDER TH CONTRA | OF THI TAX & FERENCE MENTS F E DIREC CT OR P   | S BID. REVENU HAS OR SUC TOR OF URCHAS | E<br>H  |                    |
|                  | BIDDER<br>AND TH<br>AGENCY               | IN AN                               | AMOU<br>H PEN<br>DUCTE                  | NT NO<br>ALTY<br>D FRO                         | T TO EXCE<br>WILL BE P<br>M ANY UNP  | ED 5% O<br>AID TO                              | F THE B  | ID AMO<br>TRACTI                       |         |                    |
|                  | DISCLO<br>PURCHA                         | SE ANY<br>SING D<br>D REVE          | REAS                                    | ONABL<br>ON AN                                 | CERTIFICA<br>Y REQUEST<br>D AUTHORI<br>CLOSE TO  | ED INFO<br>ŻES THE                             | RMATION<br>DEPART  | TO TH<br>MENT O                        | E       |                    |
|                  |  |                                     |   |  | NOTICE   |  |  |  |         |                    |
|                  | AN ORI                                   | GINAL,                              | SIGN                                    | ED BI  | D MUST BE  | SUBMIT   | TED TO:  |  |         |                    |
|                  | P  | EPARTM<br>URCHAS<br>UILDIN          | ING D                                   |  | INISTRATI<br>ON  | ON   | of water water and the state of |  |         |                    |
|                  | 2  | 019 WA                              | SHING                                   |  | TREET, EA<br>5305-0130   |  |  |  |         |                    |
|                  |  |                                     | E-BID                                   | LOC  | PU   | 19 WASH<br>ARLESTO<br>RCHASIN<br>ILDING        | INGTON N, WV 2 G DIVIS   | STREET<br>5305<br>ION                  |         |                    |
| SIGNATURE        | <u> </u>                                 |                                     | 0.0000000000000000000000000000000000000 | , , , per aus per 1 s bier                     | The state of the second state of the second state of the second s | TELEPHONE                                      | <u> </u>   | C25404 - 23545 (1985                   | DATE    |                    |
| TITLE            |  | TEI                                 | EIN                                     |  |  | ·····  | · · · · · · · · · · · · · · · · · · ·  |  | <u></u> | TO DE MOTER ADOLE  |
| * * *****        |  | 11.1                                |   |  |  |  | 1 477  | HOECE ALL                              |         | TO DE RIGTED ADMIT |



RFQ COPY

TYPE NAME/ADDRESS HERE

I

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

### Request for Quotation

INKCRT07

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

ØI-P-FO

| DATEPRIN          | red (                                   | ₹. ∴JEI                       | RMS OF SA            | E               |                     | SHIP VIA                                   |   | O.B.   | FREIGHTTERMS      |
|-------------------|---|-------------------------------|----------------------|-----------------|---------------------|--|---|--|-------------------|
| 09/25/            |   |                               |                      | ·               |                     |  |   |  |                   |
| BID OPENING DATE: | ্রার্ভনারের সাক্ষরতার<br>বিশ্ববিদ্যালয় | 10/24/                        | <u> 2006 </u>        | 1 00020 (22/00) | 1:57857660437567083 | BID  | <u>OPENING</u>                          | TIME 0   | 1:30PM            |
| LINE              | QUA                                     | VTITY                         | UOP                  | CAT<br>NO       | JTE                 | MINUMBER                                   | UN                                      | IT PRICE                                       | AMOUNT            |
|                   | BUYER:                                  | de                            |                      | BE              | TTY L.              | FRANCISC                                   | O - FILE                                | 42   | <u>-</u>          |
|                   | RFQ. N                                  | Ö.:                           |                      | IN              | KCRT07              |  |   |  | _                 |
|                   | BID OP                                  | ENING                         | DATE:                | TU              | ESDAY,              | OCTOBER :                                  | 24, 2006                                | . This was the time the fire the time the      |                   |
|                   | BID OP                                  | ÉNING                         | TIME:                | 1:              | 30 P.M              |  |   | the even have want was down judge heart gard y |                   |
|                   |   |                               | OU RE                | GARDI           | NG YOU              | IN CASE I'R BID:<br>4439                   |   | ESSARY   |                   |
|                   | CONTAC                                  | T PERS                        |                      | LEASE           |                     | CLEARLY)                                   | *************************************** | bis  |                   |
|                   | -                                       |                               |                      | 2:1125          |                     | ore the new test and new time the test too |   | OMF AND DATE WAS                               |                   |
|                   | ****                                    | THIS                          | IS T                 | HE EN           | D OF R              | FQ INKC                                    | RT07 ***                                | *** TOTAL                                      | 761,309.91        |
|                   |   |                               |                      |                 |                     |  | 1                                       |  |                   |
| :                 |   |                               | Andread and a second |                 |                     |  |   |  |                   |
|                   |   |                               |                      |                 |                     |  |   |  |                   |
|                   |   |                               |                      |                 |                     |  |   |  |                   |
| Reference and     | ત્રોહા <u>ોને</u> ફર્મ કેઇલ્પ્ટ લ       | vele pok doe stok e           | V-1911 10-2 500      |                 | /EBSE SINE!         | od tedlike vijir 27                        | MOITIONS                                | 86 (87 (88 (88 (88 (88 (88 (88 (88 (88 (88     |                   |
| SIGNATURE         | <u> </u>                                | n guji san ngan silin ingina. | person stores.       | TO WE THE       | A 10110100 101010 1 | TELEPHONE                                  | ALVERT IN THE CONTRACT                  | DATE   |                   |
| TITLE             |   | ļri                           | EIN                  | <del></del>     |                     | L.   |   |  | TO DE MOTED ADOUE |

| RFQ No.        | INKCRT07 |
|----------------|----------|
| 1 /1 /2 1 */ . |          |

### **AFFIDAVIT**

West Virginia Code §5A-3-10a states:

No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions.

"Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

#### **EXCEPTION:**

The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

#### LICENSING:

The vendor must be licensed in accordance with any and all state requirements to do business with the state of West Virginia.

#### CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit www.state.wv.us/admin/purchase/privacy for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

| Vendor's Name: May a Funni         | - FOMEROW IT SolutionSIN |
|------------------------------------|--------------------------|
| V6100/ 3 1401/10.                  |                          |
| Authorized Signature: Make Oa Fung | Date: 10-30-06           |
| Aumonzeu Signature.                |                          |

No Debt Affidavit Revised 02/08/06



NODZEK

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

### Request for Quotation

REGNUMBER INKCRT07

PAGE 1

BETTY FRANCISCO
304-558-0468

の王一戸、井〇

| DATE PRIN  |                     | TERMS OF SALE            | SHIP VIA  |             | FOB;            | FREIGHTTERMS      |
|--|---------------------|--------------------------|---|-------------|-----------------|-------------------|
| 10/16/<br>BID OPENING DATE:  |                     | 31/2006                  |   | BID OF      | PENING TIME 6   | L:30PM            |
| N. 2 - 2-1 - 2012 - P. 201 | 410393003036363636  |                          | то Постана  | 38-35-JA 86 |                 |                   |
| LINE   | QUANTITY            | UOP CA                   | ) ITEM NUMBER   |             | UNIT PRICE      | AMQUNT            |
|  |                     |                          |   |             |                 |                   |
|  |                     | Α.                       | DDENDUM NO. 01  |             |                 |                   |
|  |                     |                          |   |             |                 |                   |
|  | 1. REVISE<br>USE TH | D PRICING<br>IS VERSION  | PAGES ATTACHED.<br>FOR THEIR BID.                     | BIDI        | DERS MUST       |                   |
|  | £                   | UM 1 - PRE               | -BID MEETING DI                                       | scussi      | ION NOTES       |                   |
|  | SHOULD              | sign and                 | EDGEMENT IS ATT<br>RETURN WITH THE<br>CAUSE FOR REJEC | IR BID      | OS. FAILURE     |                   |
| To a service of the s |                     | ENING DATE<br>R 31, 2006 | HAS BEEN MOVED  | TOT         | JESDAY,         |                   |
| ,  | ******              | *****                    | ND OF ADDENDUM  | NO. 01      | 1*****          |                   |
|  |                     |                          |   |             |                 |                   |
| SIGNATURE  |                     |                          | ereverse side for terms a<br>Iteleph                  |             | IONS:   DATE    |                   |
|  | WWWU 01-            | Fenny                    | ictern  | VI 912      | LATE            |                   |
| TITLE  |                     | FEIN                     |   |             | ADDRESS CHANGES | TO BE NOTED ABOVE |

#### **INKCRT07**

### Addendum No. 1

### **Pre-Bid Meeting**

- Bids received shall be firm for 365 days from award. Substantiated price increases may be requested at renewal. Purchasing may either accept the price increases, or reject the increases and rebid the commodity.
- 2. Revised Pricing Pages are attached. This list replaces the list in the original request for quotation. Bidders must enter their pricing on this revised pricing list. This is an excel document and we are requesting that the bidders type this information.
- 3. The revised pricing pages also contain a space for bidders to enter their cut-off time for next day delivery. This time cannot be prior to 2:00 p.m. The contract holder will be required to deliver any cartridge ordered by 2:00 p.m. the next business day.
- 4. The pricing page has been revised to allow space for the bidders to indicate a rebate on used toner cartridges. For evaluation purposes, 1,000 cartridges will be used. The total of this estimated rebate will be deducted from the grand total of the cartridge cost shown on your bid.
- 5. The Annual spend on this contract is approximately \$350,000.00. No guarantee of any future contract use is made.
- Selected vendor shall be required to submit quarterly summary reports detailing items purchased and agencies making the purchase. Such report shall be sent to the Purchasing Division, 2019 Washington Street, East, Charleston, WV 25305.

| WV-36a STATE OF WEST VIRGINIA PURCHASING CONTINUATION SHEET  | Buyer:                      | Page                 | Req. or P. O. No.:   |
|--|-----------------------------|----------------------|--|
| Vendor: Pomercy IT Solutions   | Spending Uni                | t:                   | L  |
| Tomas, Police State                              |                      | ***************************************  |
|  |                             |                      | i.   |
| R  | equisition N                | lo.: <u> </u>        | VKCRT07  |
| ADDENDUM ACKNOW!   | .EDGEMEN                    | IT                   |  |
| I hereby acknowledge receipt of the following che<br>the necessary revisions to my proposal, plans and   | cked adder<br>d/or specific | ndum(s)<br>ations,   | and have made etc.   |
|  |                             |                      |  |
|  |                             |                      |  |
| Addendum No.'s:  | *                           |                      |  |
| No. 1 MAF  |                             |                      |  |
| No. 1 MAF<br>No. 2 MAF   |                             |                      |  |
| No. 3  |                             |                      |  |
| No. 4  |                             |                      |  |
| No. 5  |                             |                      | and the second s |
| I understand that failure to confirm the rece rejection of bids.   | ipt of the ac               | ldendur              | m(s) is cause for  |
|  | m ().                       |                      |  |
|  | I A WASOU                   | to to                | ann  |
| •  | $\cap$                      | gnature              |  |
|  |                             | <u>ナエア</u><br>ompany | - Solutions  |
|  | 10-30                       | 0-06                 | 2  |
|  | Da                          |                      |  |
| Exhibit 10   |                             |                      |  |



MODZMA

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for Quotation

SH-P-TO

RFONUMBER INKCRT07 1

BETTY FRANCISCO

ADDRESS CORRESPONDENCE TO ATTENTION OF 304-558-0468

RFQ COPY TYPE NAME/ADDRESS HERE

| LO/19             | /2006   | ng rasger   | MS OF SAL                        | . <b>B</b> 300000000                                     | SHIP:V  | IA:                                   | 1   | .0.8                            |          | FREIGHTTERMS   |
|-------------------|---|---|----------------------------------|--|---|---------------------------------------|---|---------------------------------|----------|----------------|
| BID OPENING DATE: |   | 10/31,  | /2006                            |  |   | BID                                   | OPENING   | TIME                            | -01:3    | OPM            |
| LINE              | QUAI  | VTITY   | ÜOP                              | CAT:<br>NO   | ITEM NUN  | MBER                                  | ÚΝ  | IT PRICE                        |          | AMOUNT         |
|                   | IDENT<br>DISCO<br>THE E'<br>REMAII<br>THIS I<br>VALID | IFICAT:<br>NTINUE:<br>VALUAT:<br>NING I'<br>BID WI:<br>ITEM I | ION NO  ION.  IEMS.  L BE  NUMBE | AI<br>THT TO<br>JMBERS<br>NE OF<br>PLEAS<br>ANY<br>RESTI | DOENDUM NO<br>DOUR ATTE<br>SARE INCO<br>THOSE ITE<br>SE SUBMIT<br>CONTRACT<br>RICTED TO | ENTION DERRECT (EMS WILL) YOUR BESULT | DR HAVE<br>L BE USE<br>D ON TH<br>ING FROM<br>TEMS WI | BEEN<br>ED IN<br>IE<br>I<br>TTH |          |                |
|                   |   |   |                                  | LEMD   | PF ADDEND   | om no.                                | <b>2</b>  |                                 |          |                |
|                   |   |   |                                  |  |   |                                       |   |                                 |          |                |
|                   | • •   |   |                                  |  |   |                                       |   |                                 |          |                |
|                   |   |   |                                  |  |   |                                       |   |                                 |          |                |
|                   |   | //  |                                  | SEERE  | VERSE SIDE FORTI  |                                       | NDITIONS  |                                 |          |                |
| SIGNATURE         | Ray C   |   | um                               |  |   | TELEPHONE                             |   | ĮDA                             | TE       |                |
| TITLE             |   | FE  | in.                              |  | ······································  | · · · · · · · · · · · · · · · · · · · | AD  | DRESS CHAN                      | GES TO I | BE NOTED ABOVE |

| Item #          | Cartridge # | Estimated<br>Quantity | Unit Cost | Total                          |
|-----------------|-------------|-----------------------|-----------|--------------------------------|
|                 |             |                       |           |                                |
| Hewlett Packard |             |                       |           | programme and the first of the |
|                 |             |                       |           |                                |
| 11              | 51626A      | 50                    | \$25.68   | \$1,283.98                     |
| 2               | 51629A      | 90                    | \$25.68   | \$2,311.16                     |
| 3               | 51641A      | 50                    | \$26.38   | \$1,318.99                     |
| 4               | 51645A      | 600                   | \$23.31   | \$13,988.73                    |
| 5               | 51649A      | 90                    | \$26.38   | \$2,374.19                     |
| 6               | 92274A      | 70                    | \$79.39   | \$5,557.53                     |
| 7               | 92291A      | 85                    | NO        | OEM                            |
| 88              | 92298A      | 45                    | \$82.22   | \$3,699.68                     |
| 9               | C1823D      | 99                    | \$26.17   | \$2,590.50                     |
| 10              | C3900A      | 35                    | \$120.97  | \$4,233.87                     |
| 11              | C3903A      | 50                    | \$70.16   | \$3,507.84                     |
| 12              | C3906A      | 50                    | \$53.10   | \$2,655.24                     |
| 13              | C3909A      | 70                    | \$150.04  | \$10,502.61                    |
| 14              | C4092A      | 60                    | \$46.16   | \$2,769.73                     |
| 15              | C4096A      | 55                    | \$78.30   | \$4,306.34                     |
| 16              | C4127X      | 100                   | \$99.65   | \$9,965.27                     |
| 17              | C4129X      | 70                    | \$127.88  | \$8,951.59                     |
| 18              | C4151A      | 40                    | \$138.20  | \$5,528.10                     |
| 19              | C4152A      | 40                    | \$138.20  | \$5,528.10                     |
| 20              | C4153A      | 40                    | \$122.78  | \$4,911.38                     |
| 21              | C4154A      | 15                    | \$315.82  | \$4,737.26                     |
| 22              | C4155A      | 15                    | \$255.12  | \$3,826.80                     |
| 23              | C4182X      | 45                    | \$147.10  | \$6,619.68                     |
| 24              | C4191A      | 60                    | \$67.03   | \$4,021.84                     |
| 25              | C4192A      | 60                    | \$97.28   | \$5,836.66                     |
| 26              | C4193A      | 60                    | \$97.28   | \$5,836.66                     |
| 27              | C4194A      | 60                    | \$97.28   | \$5,836.66                     |
| 28              | C4195A      | 80                    | \$64.06   | \$5,124.53                     |
| 29              | C4196A      | 30                    | \$168.48  | \$5,054.40                     |
| 30              | C4197A      | 20                    | \$197.81  | \$3,956.27                     |
| 31              | C4800A      | 80                    | \$26.17   | \$2,093.34                     |
| 32              | C4801A      | 80                    | \$26.17   | \$2,093.34                     |
| 33              | C4802A      | 80                    | \$26.17   | \$2,093.34                     |
| 34              | C4803A      | 85                    | \$26.17   | \$2,224.17                     |

| Item # | Cartridge # | Estimated<br>Quantity | Unit Cost | Total           |
|--------|-------------|-----------------------|-----------|-----------------|
|        |             |                       |           |                 |
| 35     | C4804A      | 85                    | \$50.38   | <del>    </del> |
| 36     | C4805A      | 80                    | \$50.38   | \$4,030.77      |
| 37     | C4806A      | 80                    | \$50.38   | \$4,030.77      |
| 38     | C4810A      | 85                    | \$26.17   | \$2,224.17      |
| 39     | C4811A      | 40                    | \$26.17   | \$1,046.67      |
| 40     | C4812A      | 40                    | \$26.17   | \$1,046.67      |
| 41     | C4813A      | 40                    | \$26.17   | \$1,046.67      |
| 42     | C4841A      | 40                    | \$25.52   | \$1,020.68      |
| 43     | C4842A      | 40                    | \$25.52   | \$1,020.68      |
| 44     | C4843A      | 40                    | \$25.52   | \$1,020.68      |
| 45     | C4844A      | 45                    | \$25.52   | \$1,148.27      |
| 46     | C4921A      | 40                    | \$26.17   | \$1,046.67      |
| 47     | C4922A      | 40                    | \$26.17   | \$1,046.67      |
| 48     | C4923A      | 40                    | \$26.17   | \$1,046.67      |
| 49     | C5010DN     | 80                    | \$22.61   | \$1,809.14      |
| 50     | C5011DN     | 85                    | \$17.05   | \$1,449.42      |
| 51     | C5023A      | 60                    | \$54.31   | \$3,258.76      |
| 52     | C5024A      | 60                    | \$54.31   | \$3,258.76      |
| 53     | C5025A      | 60                    | \$54.31   | \$3,258.76      |
| 54     | C5026A      | 65                    | \$54.31   | \$3,530.32      |
| 55     | C6578AN     | 300                   | \$45.05   | \$13,513.71     |
| 56     | C6578DN     | 310                   | \$26.17   | \$8,111.68      |
| 57     | C6614DN     | 200                   | \$24.47   | \$4,894.33      |
| 58     | C6615DN     | 140                   | \$22.24   | \$3,113.41      |
| 59     | C6625AN     | 90                    | \$24.21   | \$2,178.70      |
| 60     | C6628AN     | 80                    | PART#     | NOT FOUND       |
| 61     | C6656AN     | 420                   | \$15.74   | \$6,611.91      |
| 62     | C6657AN     | 215                   | \$26.17   | •               |
| 63     | C6658AN     | 105                   | \$19.20   |                 |
| 64     | C7115A      | 120                   | \$48.05   | <del> </del>    |
| 65     | C8061X      | 145                   | \$99.65   |                 |
| 66     | C8543X      | 75                    | \$215.31  | \$16,148.40     |
| 67     | C8727AN     | 125                   | \$14.43   | \$1,804.16      |
| 68     | C8728AN     | 110                   | \$16.91   | \$1,860.09      |
| 69     | C9700A      | 50                    | \$64.66   | \$3,232.78      |
| 70     | C9701A      | 50                    | \$77.88   | \$3,894.05      |

|       |             | Estimated |           |              |
|-------|-------------|-----------|-----------|--------------|
| Item# | Cartridge # | Quantity  | Unit Cost | Total        |
|       |             |           |           |              |
| 71    | C9702A      | 55        | \$77.88   | \$4,283.45   |
| 72    | C9703A      | 50        | \$77.88   | \$3,894.05   |
| 73    | C9704A      | 50        | \$135.24  | \$6,761.93   |
| 74    | C9720A      | 60        | \$121.00  | \$7,259.89   |
| 75    | C9721A      | 60        | \$163.71  | \$9,822.56   |
| 76    | C9722A      | 60        | \$163.71  | \$9,822.56   |
| 77    | C9723A      | 60        | \$163.71  | \$9,822.56   |
| 78    | C9730A      | 50        | \$174.98  | \$8,748.79   |
| 79    | C9731A      | 40        | \$245.56  | \$9,822.36   |
| 80    | C9732A      | 40        | \$245.56  | \$9,822.36   |
| 81    | C9733A      | 40        | \$245.56  |              |
| 82    | Q1338A      | 100       | \$121.77  | \$12,176.96  |
| 83    | Q1339A      | 90        | \$158.96  | \$14,306.32  |
| 84    | C4836A      | 45        | \$25.52   | \$1,148.27   |
| 85    | C4837A      | 50        | \$25.52   | \$1,275.86   |
| 86    | C4838A      | 30        | \$25.52   | \$765.51     |
| 87    | C9362WN     | 65        | \$12.03   | \$781.80     |
| 88    | C9361WN     | 70        | \$15.38   | \$1,076.41   |
| 89    | C8766WN     | 70        | \$18.69   | \$1,308.03   |
| 90    | C8767WN     | 95        | \$23.59   | \$2,240.92   |
| 91    | C9351AN     | 55        | \$12.03   | \$661.53     |
| 92    | C9352AN     | 60        | \$13.84   | \$830.68     |
| 93    | C4190A      | 45        | PART#     | NOT FOUND    |
| 94    | Q2670A      | 20        | \$103.21  | \$2,064.10   |
| 95    | Q2671A      | 20        | \$102.62  | \$2,052.33   |
| 96    | Q2672A      | 20        | \$102.62  |              |
| 97    | Q2673A      | 20        | \$102.62  | <del> </del> |
| 98    | Q3960A      | 30        | \$64.66   |              |
| 99    | Q3961A      | 30        | \$77.88   | \$2,336.43   |
| 100   | Q3962A      | 30        | \$77.88   |              |
| 101   | Q3963A      | 30        | \$77.88   |              |
| 102   | Q3964A      | 30        | \$77.88   |              |
| 103   | Q2612A      | 40        | \$54.57   | \$2,182.66   |
| 104   | Q6511A      | 30        | \$96.68   |              |
| 105   | Q5949A      | 100       | \$55.75   |              |

| Item #     | Cartridge #        | Estimated Quantity | Unit Cost          | Total                    |
|------------|--------------------|--------------------|--------------------|--------------------------|
|            |                    |                    |                    |                          |
| 106        | Q2613A             | 40                 | \$55.75            |                          |
| 107        | Q2610A             | 40                 | \$93.71            | \$3,748.60               |
| 108        | Q2624A             | 100                | \$55.75            | <del> </del>             |
|            |                    |                    | Subtotal           | \$458,358.90             |
|            |                    |                    |                    |                          |
| Dell       |                    |                    |                    |                          |
| 400        | 7)/7/40            |                    | <u> </u>           | 4700 OF                  |
| 109        | 7Y743              | 30                 | \$25.36            |                          |
| 110        | 7Y743              | 30                 | \$25.36            |                          |
|            |                    |                    | Subtotal           | \$1,521.89               |
| Lexmark    |                    |                    |                    |                          |
| Lexillark  |                    |                    |                    |                          |
| 111        | 12A1450            | 30                 | PART#              | NOT FOUND                |
| 112        | 12A1451            | 30                 | \$147.67           | \$4,430.17               |
| 113        | 12A1451            | 30                 | \$147.67           | \$4,430.17               |
| 114        | 12A1452            | 30                 | \$147.67           | \$4,430.17               |
| 115        | 12A1453            | 30                 | \$108.88           |                          |
| 116        | 12A1454            | 30                 | <u> </u>           |                          |
|            | -{                 | 15                 | \$274.80           | \$8,244.03               |
| 117<br>118 | 1361750<br>1361751 | 15                 | \$126.51           | \$1,897.64               |
| 119        | 1361752            | 15                 | \$73.31<br>\$67.41 | \$1,099.70<br>\$1,011.09 |
| 120        | 1361753            | 10                 | \$67.41            | \$674.06                 |
| 121        | 1361754            | 15                 | \$67.41            | \$1,011.09               |
| 122        | 1380950            | 20                 | \$260.28           | \$                       |
| 123        | 1382050            | 40                 | \$29.59            |                          |
| 124        | 1382060            | 45                 | \$32.69            |                          |
| 125        | 1382150            | 100                | \$267.94           | \$26,793.97              |
| 126        | 1382925            | 110                | \$176.41           | \$19,404.77              |
| 127        | 08A0477            | 50                 | \$126.59           | \$6,329.54               |
| 128        | 10B042C            | 20                 | \$327.49           | \$6,549.80               |
| 129        | 10B042K            | 20                 | \$153.63           | \$3,072.61               |
| 130        | 10B042M            | 20                 | \$327.49           | \$6,549.80               |
| 131        | 10B042Y            | 20                 | \$327.49           | \$6,549.80               |
| 132        | 10N0217            | 60                 | \$14.60            | \$875.74                 |
| 133        | 10N0227            | 60                 | \$15.87            | \$952.48                 |
| 134        | 12A0725            | 40                 | \$271.96           | \$10,878.36              |

|            |             | Estimated |           |              |
|------------|-------------|-----------|-----------|--------------|
| Item #     | Cartridge # | Quantity  | Unit Cost | Total        |
|            |             |           |           |              |
| 135        | 12A1970     | 90        | \$24.54   | \$2,208.84   |
| 136        | 12A5845     | 100       | \$249.53  | <del></del>  |
| 137        | 12A6835     | 105       | \$249.53  | \$26,200.40  |
| 138        | 12A6865     | 105       | \$279.19  | \$29,314.52  |
| 139        | 12A7462     | 20        | \$265.94  | \$5,318.80   |
| 140        | 12A7465     | 120       | \$287.01  | \$34,441.39  |
| 141        | 13T0101     | 50        | \$84.41   | \$4,220.37   |
| 142        | 15G041C     | 30        | \$165.26  | \$4,957.87   |
| 143        | 15G041K     | 30        | \$100.57  | \$3,016.99   |
| 144        | 15G041M     | 30        | \$165.26  | \$4,957.87   |
| 145        | 15G041Y     | . 30      | \$165.26  | \$4,957.87   |
| 146        | 15M0120     | 85        | PART#     | NOT FOUND    |
| 147        | 15M2971     | 45        | PART#     | NOT FOUND    |
| 148        | 15W0900     | 10        | \$162.81  | \$1,628.06   |
| 149        | 15W0901     | 10        | \$162.81  | \$1,628.06   |
| 150        | 15W0902     | 10        | \$162.81  | \$1,628.06   |
| 151        | 15W0903     | 10        | \$108.88  | \$1,088.79   |
| 152        | 15W090K     | 10        | PART#     | NOT FOUND    |
| 153        | 16G0055     | 45        | \$35.81   | \$1,611.41   |
| 154        | 17G0050     | 90        | \$23.01   | \$2,070.90   |
| 155        | 17G0060     | 80        | \$27.24   | \$2,179.41   |
| 156        | 17G0152     | 40        | \$103.41  | \$4,136.33   |
| 157        | 18L0000     | 45        | \$35.04   | \$1,576.70   |
| 158        | 20K0500     | 15        | \$92.81   | \$1,392.17   |
| 159        | 20K0501     | 10        | \$92.81   | \$928.12     |
| 160        | 20K0502     | 15        | \$92.81   | \$1,392.17   |
| 161        | 20K0503     | 10        | \$81.30   | \$813.02     |
| 162        | 24015HY     | 100       | PART#     | NOT FOUND    |
| 163        | 4K00199     | 20        | \$200.19  | \$4,003.77   |
| 164        | 64015HY     | 20        | \$0.00    | \$0.00       |
|            |             |           |           | \$296,936.22 |
|            |             |           |           |              |
| Epson Inkj | et          |           |           |              |
| 105        | T000044     | 10        | 60.00     | ***          |
| 165        | T003011     | 40        | \$0.00    | \$0.00       |
| 166        | T005011     | 45        | \$0.00    | \$0.00       |
| 167        | T007201     | 45        | \$0.00    | \$0.00       |

| Item #   | Cartridge #         | Estimated<br>Quantity | Unit Cost   | Total        |  |  |  |
|--|---------------------|-----------------------|-------------|--------------|--|--|--|
|  |                     |                       |             |              |  |  |  |
| 168  | T008201             | 40                    | \$14.03     | \$561.09     |  |  |  |
| 169  | T009201             | 40                    | \$21.12     | \$844.89     |  |  |  |
| 170  | T019201             | 30                    | \$21.12     | \$633.66     |  |  |  |
| 171  | T020201             | 20                    | \$17.57     | \$351.39     |  |  |  |
| 172  | T032120             | 40                    | \$24.68     | \$987.39     |  |  |  |
| 173  | T032220             | 40                    | \$9.29      | \$371.49     |  |  |  |
| 174  | T032320             | 40                    | \$9.29      | \$371.49     |  |  |  |
| 175  | T032420             | 40                    | \$9.29      | \$371.49     |  |  |  |
|  |                     |                       | Subtotal    | \$4,492.90   |  |  |  |
|  |                     |                       |             |              |  |  |  |
|  |                     |                       | GRAND TOTAL | \$761,309.91 |  |  |  |
|  |                     |                       |             |              |  |  |  |
| Rebate for   | returned cartridges | 1000                  |             | \$0.00       |  |  |  |
| All toner cartidge orders received prior to 2:30PM shall be delivered the next business day. NOTE: This cannot be prior to 2:00 p.m. |                     |                       |             |              |  |  |  |
| I, MICHAEL FERRARI, representing POMEROY IT SOLUTIONS (print name) (company name)  |                     |                       |             |              |  |  |  |
| cartridges; the  |                     | remanufctured,        | · ·         | • 1          |  |  |  |
| Signature/Date: Milhaif Thuru 10/31/2006   |                     |                       |             |              |  |  |  |